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 A bird with a short, thick bill probably eats  

a. fish. 

b. seeds. 

c. insects. 

d. fleshy fruit. 
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Archaeopteryx has characteristics of both 

a. modern birds and ancient birds.  

b. amphibians and reptiles. 

c. reptiles and modern birds. 

d. amphibians and modern birds. 
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Which of the following bird adaptations is NOT 
associated with flight? 

a. bones with many hollow air spaces 

b. air sacs in addition to lungs 

c. gizzard  

d. contour feathers 
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Which of the following birds assists in pollinating 
flowering plants? 

a. pelican 

b. hummingbird 

c. raptor 

d. heron 
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